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6. Consider the differential equation @ x? - 1

) Y
Let y = A{x)be the particular solution to the differential equation with #(0) =2.

A. Use a linearization centered at x =0 to approximate A(1).

B. Use Euler’s method, starting at x = Owith two steps of equal size, to approximate A(1).

] Lo ke Kioneo| d firdf-g)moid

ax
LQ(): L F [OZ__Z[_(L)Z(X) _(Jj;]_ - U,,),{(_;):__

o dy
LC)() T2 - 4 x:u}‘a:?-}ﬁ"‘].'j—hfjra]gh of f—
at +ie'pomt (o2)

A X L()7 21 “:m '_"—"*—;“"'—*““’f 5 Concave vp-

v _
&] (?(6 ‘%‘) U/\ _ a4 Sl (;,)}05 INK= 0.6

~[1]er

DS ﬁ) J :‘}L , E’i)i%(’iﬂaé

E +_z2] 1
=2 P d Ty e

-2
= 2
2

FARS

i

v
 w
.
T
S5
v =

v

& e

1
<\~




7. Consider the differential equation % =y*(2x+2)
Let y = f(x)be the particular solution to the differential equation with f(0)=-1.

A. Use Euler’s method, starting at x = Owith two steps of equal size, to approximate f (-1-] .
AX= 4 2
B. Find y = f(x), the particular solution to the differential equation with initial condition
f(0)=-1.
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#8. If—=0001P(25 P)and P(0)=15... K=0001 [ =25

A. Fmd the function P(¢). Provide a quick sketch.

B. Find the value of P when %is at its greatest.
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B. Find the value of % when %13 at its greatest
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